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1.Which two features of Kubernetes are supported by the Contrail CNI? (Choose two.) 
A. black list rules 
B. network isolation 
C. service chaining 
D. pod traffic shaping 
Answer: A,D 
 
2.Exhibit. 

 
Referring to the exhibit, which two statements are correct when deploying the OpenShift pod? (Choose 
two.) 
A. A podis created with the name "test1". 
B. Pods are reachable by pods in a different namespace. 
C. Pods are reachable only by pods in the same namespace. 
D. A pod is created with the name "test". 
Answer: B,D 
 
3.You are deploying Contrail Enterprise Multicloud in your environment. You must securely connect your 
private resources with publicly-hosted resources. 
What must be included in this scenario? 
A. AppFormix 
B. Contrail Security 
C. service chaining 
D. Multicloud-Gateway 
Answer: D 
 
4.Exhibit. 
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You are using Contrail Command to configure AWS. You are unable to ping your VMs within the instance 
you created. 
Referring to the exhibit, what is the problem? 
A. You must change the protocols allowed in the "Allow-all-inbound" rule to "ANY". 
B. Your subnets are in different availability zones. 
C. You must change the direction of the "Allow-all-inbound" rule to "Ingress". 
D. Your subnets for "Availability zone 1" and "Availability zone 2" must be the same. 
Answer: C 
 
5.Into which namespace are the Contrail system components deployed in an OpenShift cluster? 
A. contrail-system 
B. openshift-sdn 
C. networking 
D. default 
Answer: D 
 
 


